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SECOND S

1w

GE 20— ENGINERING MECHANICS

REGULATIONS 2007)

Common 1o Al Banches

Time  Theee hours Maximam 100 marks

Answor ALL gacstions.

PART A — (10 - 2= 20 mavks)

U Dok wnit e
2 What s single equivalent force?

5 Express the controital coordimates of & quadran of +
circle

Stare the conditions ot which the product of inertin of «
lame g it respect o it centroidal ais i 20

. What s mennt by angle of response?.

B State Columlss b of s fretion,
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TGl A Tadder 5w lows aod 250 N weighs b placed
it vertical wall i 4 postion where e

nclination 1o the vertial s 50°. A man weighing
500 N climbs the Jadder. A1 what possion sl he
induce dipping? The cocifiesent of fiction bessecn
e swal and fonr s the Ladder i 1.2

o

(A Jeather belt s reqired 1o Lrausmit 9 KW from 4
¥ rpm. T
Meient of fret

pulkes 120 m in dimeter suoning 412

mbracad s 165 and e
between the leather bel aud pulley is 03 The safe
workiug stvess for the Leather belt ix 140 Nieww
thickness of the belt "

10 s and density o loarher s 1 gmion
Ietermine the widrh of the bl taking (e
contrifugal tension i acconst.

B The angle of otation of a budy i given by the

cquation 02" -5 ot 16, Here 0 is
exprossed in radans and tm sconds.
Determine angaar velocits and angular

secelevation when ¢ 0 amd 4 scconds (50
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Bl et the action of an applod e gy

pamllel s the el plame. The cocegons
o tion s 0.2 11 tho body moven from ey

deterimine
G Acceleration of the body

G0 Dt teaveled b e o i 4 s,
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G Veloeit of he o afier 1 seconds
) Kinetic Bnerss of the oy after 1 swconds
G Work done an the bors in 1 seconds
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